1 SET-A

DEPARTMENT OF PCSTS~AP.CIRCLE .
POSTMAN AND MAIL GUARD DIRECT RECRUITMENT EXAMINATION
- PART = A GENERALXNOWLEDGE

Date: 26.10.2014 (Held on 26-10-2014) Marks: 25° 1=25

1. All questions carry equal marks.
2. Every question has four options. Mark the correct optionin your CMR sheet.

1. The first president of the Indian National Congress was

‘2. W.C/Banerjee’ b. Badiruddeen Tyabji ¢. AD. Hume d. none of these
2. Indian Parliament consists of
a. Lloksabha b. Lok sabha, Rajya Sabha and the president of India
c.Rajya sabha d. Lok sabha, Rajya sabha and Vidhan sabha

.3, Onamis mainly celebrated in
a. Tamil Nadu b. Karnataka ¢. Pondicherry d. Kerala

4. Who is the chairman of our-council of Statas?
2. LokSabha Speaker  b. Chief Justice of india c. Pgesident of India  d. none of these

5. Grand Trunk Road was constructed by

a. Ashoka b. Harsha * c. Sher Sha 4. Lord trwia

6. Sree Krishna Devaraya belongs to which dynasty? :
3. Sangama b. Saluva ¢ Tuluva® d. lkshwaka

7. Leonardo da vince is known for his paintirg called :

a. The last supper b.The last judgement  c. The Madonna d. The fall of man
8.« “Article 17 of Indian Constitution deals with

a. right to life , b. abolition of untouchability

¢ right to equality d. appointment of president of India
9. How long does it take sunlight to reach the earth?

2. Sminutes b. 8 minutes €. 10 minutes T d.12 minutes
10. Who won tennis US open 2014 mixed doubles?

2. Sania Mirza & Mahesh Bhupathi . b. Sania Nehwal & Mahesh Bhupathi

c.Sania Mirza & Rafel Nadel = d. Sania Mirza & Bruno Soares

11, Who was the first Indian to be elected tc the British Parliament?
a. Dadabhai Naoroji  b. Kesawchandra Sen  c. Justice Ranade d. Behramji Malbari

12. Which of the following H not a by-product of petroleum?
a. naptha b. ammonia c. diesel d. paraffin wax

13. Important sea port in india during Indus valley civilization was .
a. Mohenjodare = - -+ b.Harappa ¢. lothal - " d. Chunhudaro



14. According to the constitution, India is
a. Union of states - b, Federal state ¢. Unitary state d. none of these

15. Find the odd man out,
a. Sel : b. Andhra Bank ¢. Canara Bank d.Karur Vysya Bank

16. Find the next number in the series.
2,35,7,11,13,17,158,.......

a. 21 _ b.22 " 23 d.25

17. Bandipur national park is situated in. ; |

a. Kerala b. Karnataka ¢. Tamilnadu d. Andhra Pradesh
18. If AB means 25, BC means 57 and BD means 58, what does CADE means )

a. 7825 2 b.2573 c. 7285 : d. 5827
19. Buckingham canal is situated in the states of

a. A.P.&Orissa b. A.P.&Kerala ¢. A.P.&Tamilnadu d. A.P.&Telangana
20. Who is the communications minister of india?

a. Arun Jaitley b. Rajrath Singh ¢. Nitin Gadkari d. None of these
21. PIN CODE of Andhra Pradesh and Telangana states start with

a. 1 s v~ --b.B ¢.3 d.S 2
22. The Morley = Minto reforms were announced in

a. 1909 : © b. 1906 ¢. 1911 © d.none of these »
23. Which of the following lakes is situated on the west coast of India?

a. Chilka b. Astamudi ¢. Pulicat d. Kolleru
24. MGNREGS deals with ; _
' a. energy b. clean schocls c. financial inclusion  d employment guarantee
25. _

B
A
c

If circle A represents Indians, circle B represents males and circle C represents singers, who is an Indan
male but not a singer?

a. 5 b.6 c. 2 d. none of these
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SET-A
DEPARTMENT OF POSTS—A.P. CIRCLE
POSTMAN AND MAIL GUARD DIRECT RECRUITMENT EXAMINATION
' PART -8 MATHEMATICS

Date: 26.10.2014 ; Marks: 25* 1=25

1. All questions carry equal marks. . ;
2. Every question has four options. Mark the correct option in your OMR sheet.

10.

11.

12,

Product of two numbers is 600, LOM of these numbers is 10. What is the HCF of those two °
numbers? .

A 30 8. 40 C. 50 " D. None of these

What percent of a day is 2 hours?
A 8% B. 10% C.12% D. None of these

If X earns 25% more than Y, find out what percent Y earns less than X?
A, 16% B.18% C. 20% D. None of these

Two articles are sold for Rs.396.00 each. ‘The seller gains 10% on one article and looses 10% on the
second one. Find his total loss or gain.

A. Noloss/nogain  B. 1%loss C.1%profit  D.None of these

: A g =l t‘ gt
Calculate the simple interest on Rs.6,400 for & !lfnth's the rate of 10% per annum.
A. Rs.300 B. Rs. 340 C. Rs.260 0. None of these

Area of a rectangular field is 150 Sq. units. Ifits perimeter is 50 units, its dimensions are
A 1015 B.2,75 C.3,50 D. None of these

The total surface area of a cube is 150 ecm . Its volume is
A 100cm’ B.125cm’ C 125 em’ D. None of these

If the cost price of 12 pens is equal to the selling price of 8 pens, the profit percentls
A 12% B. 30% C. 50% D. None of these

A deaer marks his goods 30% above the cost price, but allows a discount of 10% for cash payment.
Find his profit percent?

A 13% B. 20% : C.15% D. None of these
04 * 0.001
MR G ?
0.02
A 0.02 B. 0.002 C 02 D. None of these

The average of first five multiples of 3 is _
A B 8.9 C.12 D. None of thesz

A match box measures 4 cm * 2.5 ¢cm * 1.5 cm. What will be the volume of a pocket containing 12
such boxes ? -
A. 180cm'  B.180 cm’ C. 1800 cm’ D. None of these



13. (625)V* =
A.25 B. 45 C.5 D. None of these

14. Which of the following is not a rational number ? ' T
A. Square root of 2 B. Square root of 4 C. Square root of 9 00303 i

15. The angles of a Triangle are in the ratio.. 1:3:5. Find the largest angle of that triangle.
" A.10 B. 30 C.50 D. None of these

16. The bate of an isosceles triangle is 10 om and one of its equal sides is 13 cm. Find its area.
A.130cm'  B.65cm’ B.60cm’  D.None of these

17. Average weight of a class of 40 students is 30 Kg. On joining of a new student, the average weight of
the class has become 31Kgs. What is the weight of the new student?

« A 30Kgs B. 31 ¥gs C. 40 Kgs D. None of these

18. A S00 meters long train crosses an electric pole in 18 seconds. What is the speed of the train?
A.100 kmph  B. 50kmph C.180kmph  D. None of these

19. A, B and C invested ﬁs.lﬂ,mﬂ, and Rs.8,000 and Rs. 5000 respectively in a business. If C's share of
profit is Rs.1000, what is the total profit earned by them?

A.Rs. 4600 B. Rs.5600 C. Rs.6600 D. None of these

20. 5 persons, work for 6 hours a day, can cemplete 3 work in 4 days. In how many days can the same
.. work be completed by 2 persons work for 8 hours a day?

A.4 4B, 5 _ C.6 D. None of these
- 21. 1/2 0f 1/3 of x = 2."What is the value of x? : "
A 12 8.18 C.24 D. None of these
22. 4+4/4%4-4=7
A2 B. 4 C.8 D. None of these
23.0.1%0.1= 1
A 0.001 B. 1% C.1/10 D. None of these
24. A can do piece of work in 10 days while B along can do itin 15 days. In how many days can A and B
working together do it ? rent - :
B 25 B.125 VoL e D. None of these

25. A sum of money is to be distributed among A,8,C,D in the proportion of 5:2:4:3. If C gets Rs.700
more than D, what is B’s share ?

A Rs. 700 B. Rs.1400 # C.Rs.2100  D. None of these

-
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e SET-A
DEPARTMENT OF POSTS—A.P. CIRCLE
PEPS'TMAH AND MAIL GUARD DIRECT RECRUITMENT EXAMINATION
PART C(1) - ENGLISH
Date: 26.10.2014 ; ' Marks: 25* 1=25
1. All questions carry equal marks.
2. Every question has four options. Mark the correct option in your OMR sheet.
1 - Tower of London is ==~s=ssmseeeeeeeee--popular tourist attraction.
A. The, The B. A, The : C. The,a D.a a
2. What is the synonym for the word “tiny"”?
A very loose B. very happy C. very thick D. very small
3. Choose the word which is most similar in meaning to the word “Espouse”. '
A oppose . B. promote C. deter 0. frugal
4. Choose the word which is most opposite in meaning to the word “exonerate”.
A praise .B. ordinary C. implicate D. clear
5. What is the antonym of “analogous”?
. A, dissimilar B. similar . C. equivalent D. simultaneous -
6. India ~—ee-eremrme {win) the prudential cricket world cup in Engiand in 1983. .
A. wins B. won " €. has won " . D.nofe of these
7.She s vacation. ’ :
A.in B. at . C. under L. none of these
8. India =weemeremmmnaaas -{be) independent since 1947, '
A has been 8. is : C. had been D. have been
9. All carididates are looking forward - the announcement of our results.
A, at B.to . C.for D.on
10.“ the enemy crosses the stream, open fire 1", shouted the captain.
A. aslong as b. as well as C. assoon as D. as faras
11. Join the following sentences by means of a suitable and meaningful conjunction.
I like him. He is sincere. -
A. 1 like him so he is sincere. B. | like him because he is sincere.
C. 1like him though he is sincere. D. | like him but he is sincere.
12. He ~=-—eememeeeasea(Write) to his mother every week.
' A write B. is writing C. will write 0. writes
13 My parents were ----—--—----happy with my performance.
A.quite B. quiet C. quit D. qwite
14. The police ——————him because he was found guiity.
A. rewarded B. apprehendedC. upended D. honoured
15. Which part of the following sentence contains an error? :
He shouted at his secretary andtold herthat  he does not need her service. No error
‘A B c D
16. | --——-——-—~in bad trouble, if she had not helped me.
A. would have been B. will have been C. will be D. would be
17. A bad worker always blames his --——-- ;
A. tools 8. fate C. master D, wife
18. His behavior is worthy of -———---~-by all the youngsters.

A. exploration B. dismal C. outburst D. emulation



19. Each of the boys ---=-s=~cseeeeee(like) this book.

A, are linking B. like C. likes D. none of these
20. All that glitters ;
A.is gold B. is silver C.is not gold D. is not silver

Read the passage carefully and answer the following questions by selecting the correct option.
Itis difficult to reconcile the ideas of different schools of thought on the question of education.
Some people maintain that pupils of school should concentrate on a narrow range of subjects which will
benefit them directly in their subsequent carzers. Others contend that they should study a wide range
of subjects so that they not only have the specialized knowledge necessary for their chosen careers but
aiso sound general knowledge about the werd they will have to work and live in. Supporters of the first
theory state that the greatest contributions to civilization are made by those who are expert in their
trade or profession. Those on the other side say that, unless they have a broad general education, the
experts will be too narrow in their outlook to have sympathy with their fellows or a proper sense of
responsibility towards humanity as a whale.
21. What is the passage about?
A Reconciliation of two different ideas about education .
B. Projecting two different ideas about education
C. Career-oriented education
'D. Broad-based education

22 According to the passage which one of the fo! Inwin: statements is true about broad
gdnenlneuedge?; et ¢ -

A. Without it no one would get a;job

B. Specialization is incomplete without it

C. Itteaches us about different thirgs

D. It broadens ona’s outlook

13 Supporters of the first theory would not agree with
. A experts have contributed most to the progress in the modern world
B. students should study a few subjects that will help them in their profession
C. people with broad general education have not contributed much to civilization
D. students should not undertake any specialized work

24, ‘Schoo! of thought' can best be explained as
.A. groups of people who are schooled to think
B. groups of people having different parception on particular subjects
C. groups of people belonging to different schools
D. groups of people whose job is to think

25. According to the second school of thought education will not be very effective, if students
" A.donot have a wide general educztion
B. have inadequate knowledge of their own work
C.ignore the study of fine arts
D. concentrate ononly a féw subjects
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GOVERNMENT OF INDIA-DEPARTMENT OF POSTS-ANDHRA PRADESH 'EIRCLE
EXAMINATION FOR FILLING UP OF THE POSTS OF POSTMAN/MAIL GUARD-2014
PART-C II (Reglonal Lacguage-Telugu)
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SET—A
DEPARTMENT OF POSTS-A.P. CIRCLE
POSTMAN AND MAIL GUARD DIRECT RECRUITMENT MATIOH
PART-A GENERAL KNOWLEDGE
Date: 26.10.2014 Marks: 25 x 1=25
1. All questions carry equal marks. {
2. Every Question has four options. Mark the correct option in your OMR sheet,
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SET-A
DEPARTMENT OF POSTS-A.P. CIRCLE
POSTMAN AND MAIL GUARD DIRECT RECRUITMENT EXAMINATION
PART-B MATHEMATICS
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